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@Appendix( 0-1-2) Pi#EEME QEEKICERT 5,

Z ® Program (a.c ) L PH#EESAE QEEEBICEB LET, FTHHONRXY a2 ORET
THAT File(aexe) AL TSN, ZLTHEITLTCAEL L 9, £9, LLFD Option
DRiE AT LT, ZO%I4 Option DI KIET 2 PHREE AN LTS,
S

Type 0 to stop Program

Type 1 to Binary to Deci System

Type 2 to Decimal to BCD System

Type 3 to Binary to Hex System

Type 4 to Deci to Binary System

Type 5 to Hex to Binary System

Type 6 to P to 2 to 10 System
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@R 0-1-2)
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0-1-2 (B. txt)

skkskokokskokskskokokokkokokskokokokkkskskokokokkkkkoksk ok kkkkok ok

Type 0 to stop Program
Type 1 to Binary to Deci System

Type 2 to Decimal to BCD System
Type 3 to Binary to Hex System
Type 4 to Deci to Binary System
Type 5 to Hex to Binary System
Type 6 to P to 2 to 10 System

skekskokokkokokskokokokkokokokokokokkokskskokokokkkkkokk ok kkkkok ok

Option = 1
fpkkkk Binary to Decimal skkkskskkskskkskskokkokkk

Give Binary Number = 100111
Decimal Number = 39

soksokstokaiokokokoksoksiokaiokorksokoksoksiokakokoksokoksokskokokokok
Option = 2

skkorkkkk  Decimal to BCD kkkk ( HEX to BDH ) skekskskskokskokokskokok

Input = 124578
BCD Code = 0001 0010 0100 0101 0111 1000

soksokstokaiokokokoksoksiokaiokorksokoksoksiokakokoksokoksokskokokokok
Option = 2

sikkorkkkk  Decimal to BCD kkkk ( HEX to BDH ) skekskskskskskokokkokok

Input = AAABB99
BCD Code = 1010 1010 1010 1011 1011 1001 1001

skkskokokakokokskokokokkokokskokokokkkkskokokokk sk kkokokokk sk sk kkosk ok k&
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0-1-2 (B. txt)
Option = 3
spkkrkk Binary to Hex sekskkkskkskskkskokkdork

100111001101

Give Binary Number

Hexadecimal Number = 9CD

skkskokokakokokskokokokkokokskokokokkkokskokokokkskkkokokokk sk sk kkosk ok k&

Option = 4

fpkkrkk Decimal to Binary sekkkskkskskkskskkdsokk

2345689
1000111100101011011001

Give Decimal Number

m=21 Binary Number

skkskokokakokokskokokokkokokskokokokkkkskokokokk sk kkokokokk sk sk kkosk ok k&

Option = 5
fpkkkk Hexa to Binary sekkkskrskskkskskksokkk
Give Hexadecimal Number = FFAA99A
m=27 Binary Number = 1111111110101010100110011010

skkskokokakokokskokokokkokokskokokokkkkskokokokk sk kkokokokk sk sk kkosk ok k&

Option = 6
soksokstokaiokokokoksoksiokaiokorksokoksoksiokakokoksokoksokskokokokok

Give Number System p = 13
Input Number = ABC991B
na = 7

+B x 1

+ 1 x 13

+9 x 169

+9 x 2197

+ C x 28561

+ B x 371293
+ A x 4826809

Decimal Number = 52716363

R—2(2)



0-1-2 (B. txt)
Binary Number = 11001001000110001101001011

skkskokokakokokskokokokkokokskokokokkkkskokokokk sk kkokokokk sk sk kkosk ok k&

Option = 0
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0-1-2(a.¢)

/ skekokokokakokokskokokokkokskskokokokkkokskokokokkkkkokokok sk skkkoksk ok kkkk

C DProgramlZEFO0ptionDEFENTEET,
R,

Type 0 to stop Program

Type 1 to Binary to Deci System
Type 2 to Decimal to BCD System
Type 3 to Binary to Hex System
Type 4 to Deci to Binary System
Type 5 to Hex to Binary System
Type 6 to P to 2 to 10 System

sosokokkksokokkksokok kR kR kR kK okokok ko /

#include <stdio.h>
FILE *xfpB;  char *BBB="B. txt";

Jxxrkkkkkkkx OpLion 1 sxkkkkkksskkkkkkkkkkkskfkkkkkkkk /
int btodeci (void) { int n=1, i, m k,Deci, D[200], B[200];char j;

printf ("¥n¥nskkkkkx Binary to Decimal skrskkskrtkdkkskorkk¥n¥n”) ;
fprintf (fpB, “¥n¥nxkkkkxk Binary to Decimal skkkskrskrstortkdkrkk¥n¥n™) ;

3
)

MOREC: j=getchar () ; fprintf (fpB, “%c”, j) ;

if (j=="1 ) goto NEXTSTEP1;
if (j=="0" ) goto NEXTSTEPO;goto FINALD;

NEXTSTEPO: D[n]=0;goto NEXTSTEP;

NEXTSTEP1: D[n]=1;

NEXTSTEP:n=n+1;goto MOREC;

FINALD :m=n-2;for (i=0; i<=m; i++) B[m—i]=D[i+1];Deci=B[0];k=1;
for (i=1;i<=m;i++) { k=2%k:;Deci=Deci+k*B[i]; }

%d”, Deci) ;
%d”, Deci) ;

printf (" Give Binary Number
fprintf (fpB,” Give Binary Number

“¥n  Decimal Number
¥n Decimal Number

printf(
fprintf (fp

printf(
fprintf (fp

TYn¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokokkokkk¥N )

B’ ”
B, “¥n¥nskkskskskskokskskokskskokkskokkokokkskokkokokkokokkokskkokskkokkkokkkok YN )

return 0 ;}

JHRRrkkmkrkk Option 2 sskkkkkskskokkkskokokkskokokkkdokokokk /

int decitoBCD(void) { int i, n=0;char ¢, cc[100], XXX;

R—2(1)



0-1-2(a. ¢)
printf( “¥n¥nkkkkkkkkk  Decimal to BCD sk ( HEX to BDH ) skkskkskkokskkkk¥n¥n™) ;
fprintf (fpB, “¥n¥nxkkkkkkxk Decimal to BCD s#kx ( HEX to BDH ) sskskskskkkkskrkk¥n¥n”) ;

printf( “¥n Input D =7);

MORE: ¢ = getchar () ;

if (¢=="0") goto GETC;
if (¢=="1 ) goto GETC;
if (¢=="2") goto GETC;
if (¢=="3 ) goto GETC;
if (¢=="4 ) goto GETC;
if (¢=="5 ) goto GETC;
if (¢=="6") goto GETC;
if (¢="7 ) goto GETC;
if (¢=="8 ) goto GETC;
if (¢=="9 ) goto GETC;
if (¢="A ) goto GETC;
if (¢=="B ) goto GETC;
if (¢=="C ) goto GETC;
if (¢="D" ) goto GETC;
if (¢=="FE ) goto GETC;
if (¢="F ) goto GETC;
goto NEXTT;

GETC: n=n+1;cc[n]=c; goto MORE;

NEXT1: printf( “¥n¥n Input = °);
fprintf (fpB, “¥n¥n Input = ) ;

for (i=0;i<n;i++) { printf( “%”, ccli+1]);
fprintf (fpB, “%c”, cc[i+1]); }

printf( “¥n¥n BCD Code = 7);
fprintf (fpB, “¥n¥n BCD Code = ) ;
for (i=0;i<n;i++) {

if (ccli+l] =="0" ) printf (70000 “);fprintf (fpB, “0000 “);
if (ccli+l] =="1") printf (70001 “);fprintf (fpB, “0001 “);
if (ccli+l] =="2") printf (70010 ”);fprintf (fpB, “0010 “);
if (ccli+l] =="3 ) printf (0011 ”);fprintf (fpB, “0011 “);
if (ccli+l] =="4") printf (" 0100 “) ;fprintf (fpB, “0100 ) ;
if (ccli+l] =="5" ) printf (0101 ”);fprintf (fpB, “0101 “);
if (ccli+l] =="6" ) printf (" 0110 “) ;fprintf (fpB, “0110 ) ;
if (ccli+l] =="T7 ) printf (0111 ”) ;fprintf (fpB, “0111 ) ;
if (ccli+l] =="8 ) printf (1000 “);fprintf (fpB, “1000 “) ;
if (ccli+l] =="9" ) printf (1001 ”);fprintf (fpB, “1001 “);
if (ccli+l] =="A" ) printf (1010 ”);fprintf (fpB, “1010 ) ;
if (ccli+l] =="B" ) printf (1011 7) ;fprintf (fpB, “1011 ) ;
if (ccli+l] =="C ) printf (1100 ”);fprintf (fpB, “1100 ) ;
if (ccli+l] =='D" ) printf (1101 *);fprintf (fpB, “1101 “);

R—2(2)



if (ccli+1] == "E' ) {printf("1110 *);fprintf (fpB, “111
if (ccli+1] =="'F ) { printf("1111 ) ;fprintf (fpB, “111

printf ("¥n¥n “); fprintf (fpB, "¥n¥n ) ;
XXX=getchar () ; if(XXX == "S") goto FINAL;
FINAL:

0]
17):1]

printf( TYN¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokokkokkk¥N )
fprintf (fpB, “¥n¥nsktskkskkskrsorsorsioksiokokskorsorsorsiokiokokskorsorsorkforkdokrskork¥n ™) |

return 0;}

Jxxrkkkkkkkx Option 3 sxkkkkkkkkkkkkkkkkkkskdkkkkkkkk /
int btohex(void) { int n,i,m, h, H[200], B[200];char j;

printf ( “¥n¥nxkkkkkk Binary to Hex sxsskskkkkkkkkxkk¥n¥n”) |
fprintf (fpB, “¥n¥nkkktkkkx Binary to Hex skitkickkikkikrk¥n¥n”) ;

n=1;

3
)

MOREC: j=getchar () ; fprintf (fpB, “%c”, j) ;

if ( j=="1" ) goto NEXTSTEP1;if ( j == "0" ) goto NEXTSTEPO;goto FINALD;
NEXTSTEPO: H[n]=0;goto NEXTSTEP;

NEXTSTEP1: H[n]=1;

NEXTSTEP:n=n+1;goto MOREGC;

FINALD :m=n-2;for (i=0; i<=m; i++) B[m—i]=H[i+1];
B[m+1]=0;B[m+2]=0;B[m+3]=0;h=m/4;

printf( “ Give Binary Number
fprintf (fpB,” Give Binary Number

3
)

for (i=0;i<=h;i++) HLi]=B[i*4+3]*8+B[i*4+2]*4+B[i*4+1]*2+B[i*4];
for (i=0;i<=h;i++) {

printf( “¥n¥n Hexadecimal Number
fprintf (fpB, “¥n¥n Hexadecimal Number

if( H[h-i]==0 ) { printf("0");fprintf (fpB, "0”);
if( H[h-i]==1 ) { printf("17) ;fprintf (fpB, "17);
if( H[h-i]==2 ) { printf("2") fprintf(fpB, "27);
if( H[h-i]==3 ) { printf("3") fprintf (fpB, "3");
if( H[h-i]==4 ) { printf("47) fprintf(fpB, "4");
if( H[h-i]==5) { printf("5") fprintf (fpB, "5");
if( H[h-i]==6 ) { printf("6") fprintf(fpB, "6"):
if( H[h-i]==7 ) { printf ("77) ;fprintf (fpB, "77) ;
if( H[h-i]==8 ) { printf("8") fprintf(fpB, "8");
if( H[h-i1==9 ) { printf("9”):fprintf(fpB, "9”);

2
|
\%
N
«



0-1-2(a.c)

if( Hlh-i]==10 ) { printf("A”);fprintf (fpB, "A”) ;}
if( H[h=i]l==11 ) { printf("B”):fprintf (fpB, "B"):}
if( Hlh-i]==12 ) { printf("C”);fprintf (fpB, "C");}
if( Hlh-i]==13 ) { printf("D");fprintf (fpB, "D”) ;}
if( H[h=i]==14 ) { printf ("E”) ;fprintf (fpB, "E”) :}
if( Hlh-i]1==15) { printf ("F”) ;fprintf (fpB, "F") ;}}
printf( TYn¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokokkokkk¥N )

fprintf (fpB, “¥n¥nskkskkskrskrsorsiorsioksiokokskorsorsorsiokiokokskorsorsoriorkdokorkork¥n ™) |
return 0 ;}

Jxkkpkkrkk  Option 4 sekkkkkkrskorskorkokiokkokokskorskorsorkdokdok /
int DecitoBinary(void) {
int n,nn, i,m k,A[25], C[25], D[25], E[25], B[200] ;char j;
printf ( “¥n¥nkkkkkkk Decimal to Binary sekkskskkskkskskskkkkkk¥n¥n”) ;

fprintf (fpB, “¥n¥nxkkkkxk Decimal to Binary skksskrskskrkkkkkk¥n¥n™) ;

n=1;

1
N
N~—

printf( “¥n Give Decimal Number
fprintf (fpB, “¥n Give Decimal Number
MOREC: j=getchar () ; fprintf (fpB, “%c”, j) ;

1
N
N~—

if (j=="1" ) goto NEXTSTEP1;if ( j == '2" ) goto NEXTSTEPZ2;
if (j=="3 ) goto NEXTSTEP3;if ( j == "4 ) goto NEXTSTEP4;
if (j=="5 ) goto NEXTSTEPS;if ( j =='6" ) goto NEXTSTEP6;
if (j=="T7 ) goto NEXTSTEP7;if ( j == '8 ) goto NEXTSTEPS;
if (j=="9 ) goto NEXTSTEPY;if ( j =='0" ) goto NEXTSTEPO;
goto FINALD;

NEXTSTEPO: D[n]=0;goto NEXTSTEP;

NEXTSTEP1: D[n]=1;goto NEXTSTEP;

NEXTSTEP2: D[n]=2;goto NEXTSTEP;

NEXTSTEP3: D[n]=3;goto NEXTSTEP;

NEXTSTEP4: D[n]=4;goto NEXTSTEP;

NEXTSTEPS: D[n]=5;goto NEXTSTEP;

NEXTSTEP6: D[n]=6;goto NEXTSTEP;

NEXTSTEP7: D[n]=7;goto NEXTSTEP;

NEXTSTEP8: D[n]=8;goto NEXTSTEP;

NEXTSTEP9: D[n]=9;NEXTSTEP:n=n+1;goto MOREC;

FINALD:n=n-1;m=-1; MNEXT:E[1]=D[1];

for (i=1;i< n;i++) {CLi1=E[i1/2;A[i1=E[i]-2%C[i];E[i+1]=10%xA[i]+D[i+1];}
CInl=E[n]/2;A[n]=E[n]-2%C[n];m=m+1;B[m]=A[n];

R—2(4)



k=0; for (i=1;i<=n;i++) {

i f (k==

FINAL:

fprintf (fpB, “¥n m=%d Binary Number

for (i=0;i<=m;i++) { printf("%d”, B[m-i]) ;fprintf (fpB,

printf(

return 0 ;

printf(

) goto MNEXT;

0_
DLil=CLi];if(DLi]l!=0)

“¥n m=%d Binary Number

1-2(a. c)

N E

N E

k=1; }

TYn¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokkkokkk¥N )
fprintf (fpB, “¥n¥nskkskkskkskrsorsoksioksiokokskorsorsorsiokdokokskorsorsoriorkdokkkork¥n ™) |

JHRRrkkmkrkk Option b sekkkkkskkorkkskokokkkokokokkkdokokokk /

int HextoBinary(void) { int n,i,m k,D[25],B[200];char j;

printf(

n=1;

printf(

fprintf (fpB, ”

“¥n¥nkkrkrkk Hexa to Binary sekksskrsrsksrkskkkxk¥n¥n™) ;
fprintf (fpB, "¥n¥n#sktkkx Hexa to Binary skskkkkkkkxksssrsk¥n¥n”) |

Give Hexadecimal Number
Give Hexadecimal Number

MOREC: j=getchar () ; fprintf (fpB,

if
if
if
if
if
if
if
if

NN AN AN AN

NEXTSTEPA:
NEXTSTEPB:
NEXTSTEPC:
NEXTSTEPD:
NEXTSTEPE:
NEXTSTEPF:
NEXTSTEPO:
NEXTSTEPT:
NEXTSTEP2:
NEXTSTEP3:
NEXTSTEP4:
NEXTSTEPS:

1A1
’

DOOU000D00D00U0 ©-JOIW—=Mo

L X e ¥ e ¥ e ¥ e ¥ e ¥ e ¥ e ¥ e e e ¥ e |

DS 3 303330353035 5 D535 S5

B[4*n-1

1;
2;
3
4
5B [4%n-

[ S B | B | S| S | B | R L) B | B . e-.) N N N N N N NN

1
1
1
1
1
1
0,
1;
2,
3;
4
5,

e e e e e e

goto NEXTSTEPA;if
goto NEXTSTEPC;
goto NEXTSTEPE;
goto NEXTSTEP1;
goto NEXTSTEP3;
goto NEXTSTEPS;
goto NEXTSTEP7;
goto NEXTSTEP9;

0;B[4#n-1]=0;B[4*n-
B[4*n 1] 1,B[4xn-

Il%cll’ J) ’

if
if
if
if
if
if
if

NN AN AN AN

-2

-2

-2
B[4*n -2
;B[4*n-2
B[4*n -2
[4*n-2]
[4*n-2]
[4*n-2]
[4*n-2]

[4xn-2]
[4xn-2]

QAN TIO®
N

]
]
]
]
]

1=
=0; B[4*n 3
=0;B[4*n-3]=

=1;B[4*n-3]=
=1,B[4*n-3]=
=0;B[4*n-3]=
=0;B[4*n-3]=

R—2 ()

goto NEXTSTEPB;
goto NEXTSTEPD;
goto NEXTSTEPF;
goto NEXTSTEP2;
goto NEXTSTEP4;
goto NEXTSTEPG;
goto NEXTSTEPS;
goto NEXTSTEPO; goto FINALD;

;B[4*n-3]=0;B[4*n-4]=1
B[4*n 3] 0 B[4*n-4]=1

1;B[4*n-4]=1
;B[4*n-4]=1
;B[4*n-4]=1

;goto
;goto
;goto
;goto
;goto
B[4*n 41=1;¢g

oto

“%d”, Bm-i1) ;)

NEXTSTEP;
NEXTSTEP;
NEXTSTEP;
NEXTSTEP;
NEXTSTEP;
NEXTSTEP;

[4xn-4]=0;goto NEXTSTEP;
[4xn-4]=0;goto NEXTSTEP;

; [4*n—4]:0;goto NEXTSTEP;
;B[4*n-4]=0;goto NEXTSTEP;
;B[4*n-4]=0;goto NEXTSTEP;
;B[4*n-4]=0;goto NEXTSTEP;



0-1-2(a.¢)

NEXTSTEP6: D[n]=6;B[4*n-1]=0;B[4*n-2]=1;B[4*n-3]=1;B[4*n-4]=0;goto NEXTSTEP;
NEXTSTEP7: D[n]=7;B[4*n-1]=1;B[4*n-2]=1;B[4*n-3]=1;B[4*n-4]=0;goto NEXTSTEP;
NEXTSTEP8: D[n]=8;B[4*n-1]=0;B[4*n-2]=0;B[4*n-3]=0;B[4*n-4]=1;goto NEXTSTEP;
NEXTSTEP9: D[n]=9;B[4*n-1]=1;B[4+n-2]=0;B[4*n-3]=0;B[4*n-4]=1;

NEXTSTEP:n=n+1;goto MOREC;

FINALD:n=n-1;m=n*4-1;CHECK: i f (B[0] !=0) goto FINAL;
m=m-1;for (i=0;i<=m;i++) B[i]=B[i+1];goto CHECK;

FINAL: printf( “¥n  m=%d Binary Number = “, m);
fprintf (fpB, “¥n m=%d Binary Number = “, m);
for (i=0;i<=m;i++) { printf ("%d”,B[i]) ;fprintf (fpB, “%d”,B[i]);}

printf( TYn¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokokkokkk¥n )
fprintf (fpB, “¥n¥nskkskkskrskrsorsorsioksiokokskorsorsorsiokiokorskorsorsoriorkdokokkork¥n ™) |

return 0 ;}

JHRRrkkmkrkk OpLion 6 skkkkkskkokkksksokokkkkkokokkkdokokokk /

int pto2to10(void) {
int p,i,na n=1,d=0, dd, ddd, s=1, bb[100] ;char a, aa[100], XXX;
printf( TYn¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokkkokkk¥N )
fprintf (fpB, “¥n¥nskkskkskkskrsorsiorioksiokokskorsorsorsiokiokokskorsorsorforkkokokkork¥n ™) |
printf( “¥n Give Number System p
fprintf (fpB, “¥n Give Number System p
scanf ("%d”, &p) ; fprintf (fpB, “%d”, p) ;
printf ("¥n Input Number ? = );
MOREA: a = getchar(); if( a=="7? ) goto NEXTA;
n=n+1;aal[n]=a; goto MOREA;
NEXTA: printf( “¥n¥n Input Number

“);
“);
for (i=0;i<n;i++) { printf("%c”, aali+1]); fprintf (fpB, “%c”, aali+1]) ;]

fprintf (fpB, "¥n¥n Input Number

ha=n;

~R—(6)



0-1-2(a.¢)

printf( “¥n¥n na = %d¥n”, na) ;
fprintf (fpB, “"¥n¥n na = %d¥n”, na) ;
for (i=0;i<na;i++) {

if (aalna-il=="1") d=d+s; if (aalna-il=="2") d=d+s*2;
if (aalna—il=="3") d=d+s*3; if ( aalna-i]l=="4") d=d+s*4;
if (aalna—il=="5") d=d+s*5; if ( aalna—-i]=="6") d=d+s*6;
if (aalna—il=="7") d=d+sx7; if ( aalna-i]=="8") d=d+sx*8;
if (aalna-il=="9") d=d+sx9; if ( aalna—-i]l=="A") d=d+s*10;
if (aalna-il=="B') d=d+sx11;if ( aalna—-i]l=="C") d=d+s*12;
if (aalna—-il=="D") d=d+sx13;if ( aalna—i]l=="E') d=d+sx14;
if (aalna-il=="F') d=d+sx*15;

printf( “¥n + % x %d “,aalna-il,s) ;
fprintf (fpB, “¥n + % x %d “,aalna-il, s) ;
s=s*p; }

printf( “¥n¥n Decimal Number %d ¥n”, d);
fprintf (fpB, “¥n¥n Decimal Number %d ¥n”, d);

i=1;dd=d;MOREB:ddd=dd/2; bb[i]=dd-2+*ddd;
if(ddd == 0) goto NEXT;dd=ddd;i=i+1;goto MOREB;
NEXT:n=i;

3
)

for ( i=0;i<n;i++) { printf ("%d”, bb[n-i]) ;fprintf (fpB, “%d”, bb[n-i]) ;}
printf ("¥n”) ; fprintf (fpB, “¥n”) ;

printf( “¥n Binary Number
fprintf (fpB, “¥n Binary Number

printf( TYn¥nskskskskokskskokskskokskskokskskokskskokskskokskskokskskokskokokkokokkokokkokkk¥n )
fprintf (fpB, “¥n¥nskkskkskkskrsorsiorioksiokokskorsorsorsiokiokokskorsorsorforkkokokkork¥n ™) |

XXX=getchar () ;
if(XXX =="8") return O;return 0;}

int main(void) { char c,d, XXX;
fpB=fopen (BBB, “w”) ;

printf ("¥n¥n sekkkkrkrskkkikiskikrkorkkkiklkomkorkorkorkork¥n )
R—2 ()
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fprintf (fpB, “¥n¥n sekkkkskrsorsikiokiokiskorsorsoriokiokskorsorsoriorkokrk¥n )

printf (“¥n Type 0 to stop Program “);
printf (“¥n Type 1 to Binary to Deci System “);
printf (“¥n Type 2 to Decimal to BCD System “);
printf (“¥n Type 3 to Binary to Hex System “);
printf (“¥n Type 4 to Deci to Binary System “);
printf (“¥n Type 5 to Hex to Binary System “);
printf ("¥n Type 6 to P  to 2 to 10 System “);

fprintf (fpB, “¥n Type 0 to stop Program

fprintf (fpB, “¥n Type 1 to Binary to Deci System
fprintf (fpB, “¥n Type 2 to Decimal to BCD System
fprintf (fpB, “¥n Type 3 to Binary to Hex System
fprintf (fpB, “¥n Type 4 to Deci to Binary System
fprintf (fpB, “¥n Type 5 to Hex to Binary System
fprintf (fpB, “¥n Type 6 to P to 2 to 10 System

I3 Y ¥ Y Y )
N N

printf ("¥n¥n sekkkkikrkkkkkikrkkiikkkkllokookok¥n¥n - ) ;
fprintf (fpB, “¥n¥n sekkskkskrsorsorioriokiokrsorsokiokiokikrkorkoriorkkkk¥n¥n - ) ;

MORE :

3
)

¢ = getchar(); d = getchar();
fprintf (fpB, “%c”, ¢) ;

printf ("¥n¥n Option
fprintf (fpB, “¥n¥n Option

if (d=="0") goto FINAL;
if (¢=="0") goto FINAL;
if (¢=="1 ) btodeci();

if (¢=="2" ) decitoBCD();

if (¢==3 ) btohex(;

if (¢ =4 ) DecitoBinary(;
if (¢ =5 ) HextoBinary(;
if (¢=="6") pto2to10();
goto MORE;

FINAL: fclose (fpB) ;return 0; }
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